‘own words as far as practi -
margin indicate full marks. Answer any five questions,

in which Question No. 1 and 2 are compulaory.
GROUP-A

1. Choose the correct answer of the following questions.

[2x10=20]
(@)  Singlet and triplet state can be observed by :
p A One electron
(ii) Two electrons

(i)  Three electrons

(iv)  None of the above
30062/390 (315}
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P.GoSemester-1HD Examination, 2020
PHYSICS
[ Paper s NIPHYCC2
Time: Three Hours| [NMaximum Marks : 70

Note . Candidates are required to give their answers In their
own words as far as praclicable. The figures in the

margin indicate full marks. Answer from all the groups

as direcled.
GROUP-A

1. Choose the correct answer of the following questions.
[2x10=20]

(a) The general configuration of an Op-Amp consists

of :

(i) Two stages

{ii_)Aree slages
l,.---’

(i) ~ Four slages

(iv)  Five slages.

30064/390 (1) [F.1.O.
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(b)

(c)

30064/390

For operalion of a Differential Amplifigr
differential mode, ils two inpuls v, and v, must

be .

(iv) v, =2v

The output of a Schmitt's Triggeris a :

(i) Sinosoidal wave
y(ji»)/Square wave

(i) Triangular wave

(iv)  None of the above

In a comparator circuit, Two voltages applied at
the two inputs of the operational Amplifier are

equal when its output voltage is :

- (i) Positive

(ii) Negative

(2)
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(il Zero

L

(iv) Infinile

(e)  Aprecision Reclifier is used lo reclify a.c. voltages
of .
(i) All ranges
iy Smallrange
(iii) High ranges

(iv)  None of these

(f) Which of the following is not a member of a

Bipolar Logic Family ?

(i) RTL
(i)  D.TL.
(i)  CMOS

>

(@)  Active Filters are designed with :

(i) Op-Amp, Resistance and Inductance

461"]/Op-Amp, Resistance and Capacitance

30064/390 (3) [P.T.O.]
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(iy ~ Op-Amp, Inductance and Capacitance

(iv)  Resistance, Inductance and Capacitance

(h)  Amultiplexer consists of
(i) One input and many oulputs
(ii) Many inputs and many outputs

(iii) Many inputs and one output

—
-~

«iV)  Manyinputs and no output

(i) AT-type flip flop is produced froma M.S.J.K. Flip-

Flop by connecting its :
(i) J and Kinputs
_,(ii)//’;mput to K-input through an inverter
(i) J-input with the clock
(iv)  K-input with the clock
() A n-bit shift Register requires :

,m/n - S.R. Flip Flops

(ii) (n+1)-S.R. Flip Flops

30064/390 (4)
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(1 n-MS.LIK Flip Flops
(iv)  (n v 1) - MSLIK Flip Flops
GROUP-B
2. Describe in shorl, any four of the following @ [524=20]
A4a) ‘Conmnmlor
by  TTL

ey D Type Flip Flop

)/Decoder
/(,&)'/Schmitt Trigger

GROUP-C
Note : Answer any three of the following questions : [10x3=30]

/ What is Differential Amplifier ? Draw its circuit diagram
and analyse it to obtain the expression for its common

mode gain and Differential mode gain.

/ What is Active Filter ? Explain different types of active
filters with their second order transfer functions. How a

second order High pass active filter is realized ?

30064/390 (5) [PT.O]

\ 9 0‘)«8 9 -
LANE/ LY

. er Luimmerharaa CPTTIAvArANCE. LI3SSINC
Scanned with CamScanner



o7

Whal is Translstor - Translslor Loglc (TTL) ? Explain
the operalion of a TTL Nand gale, What is Scholtky
TTL?

6. What is Mulliplexer ? give ils block diagram and explain
its working. How two 16 : 1 Mulliplexer can be used to

produce a 32 : 1 mulliplexer 7

1/ " Explain the circuit diagram and working of a Master Slave
) J.K. Flip Flop.
..... x ———
30064/390 (6)
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| (@ Internal Conversion
(8" CPT invariance
GROUP-C
T‘ any three of the following questions : [1 0x3=30]

=xplain low energy n - p scattering. Obtain expression
for its scattering cross section.

ain shell model of nucleus and give its experimental
nce. Discuss the success and failure of this model.
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